L

THE!:
AEL
ZZlotnls I8 R
= s =223 TPE.

E@ 0psa|

AT e 3 RN M R

OB SE: TR, AR EE w7
e

HHH T 9t £o EWo| £0lE HY,
UrLL 2 0 XISE0| D URE & ALS.
2xigt Mefol oaMe U-m 2T HEY
T goz TEHE. AHS obd B xl FAtg

AMIM2]:
K0106
K0098
K0383
K0388
K0390
K0391
K0392
K0393

=0 M.

1) AEH El X[ 1
2) AEH E 2|x| 2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/4



K

2 ST s oM AT

&5 89/HMF ololx|

product
design
award W

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



Ui
Al
4

120

i

60
Kl
Ki

0
<F

rao
K

rJ

70

<k
H

i

ml

3/MIE olo|X]|

Mo
=o

=25

RAL 5002  RAL 3020

RAL 7021

¥d

A3

Fan
§

i)

A3
A

€

sq

~B1

Py
)

)
&

Al

~L1

~L

ed
cd

or

or
Hia

3/4

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



(]
2 SUE X3 M FE AT, T SUY ATS
== g9
FEHS THE Ay oM E o2 AEH glx H X1 HeAx2 N7 AE & HEdd 2os 245 2429
Eoiotol #oioto] soigfo] ol glo] I8 FH O F1 F2 F3 F4
WA HF 4E HF 4 HF A= HF AEAEHYPS NN N N N
K0662.006101 =M RAL 5002 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008101 =& RAL 5002 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010101 =M RAL 5002 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012101 =M RAL 5002 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
K0662.006100 &3I4 RAL 7021 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008100 43| M RAL 7021 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010100 A3|M RAL 7021 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012100 & 3|4 RAL 7021 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
K0662.006103 455 iz RAL 3020 56° 83° 152° 46° 56° 83° 160 1350 1650 920 1050
K0662.008103 4I5S iZ RAL 3020 13° 93° 158° 26° 61° 86° 190 2000 2800 940 1350
K0662.010103 4= S #Z RAL 3020 6° 97° 176° 19° 59° 91° 250 2500 4500 1500 2800
K0662.012103 4I5S #Z RAL 3020 11° 88° 164° 24° 60° 91° 280 3000 5500 1400 2800
FEHS THE MY R M AA1 A2 A3BB1 B2 B3 B4B5 B6 C D H L L1 FEH3.
o9 e
K0662.006101 =M RAL 5002 3 M6x35 1429 7 12273817,5125 - 2553424955 163 86,5 53 K0098.02
K0662.008101 =& RAL 5002 3 M8x45 2139 9 193245206 156 - 2,551,132,76,8191,4 107 62  K0098.04
K0662.010101 &M RAL 5002 4 M10x55 3250 8 274564 255 18,5383,556,538,7 9 230,5 153 95 KO0098.06
K0662.012101 =M RAL 5002 5 M12x70 3253 10,5 - 4563 28 21 - 3,5656,546,7 8,8 249,1 173,5 113,56 K0098.06
K0662.006100 ZA3|A RAL 7021 3 M6x35 1429 7 122738175125 - 2553424955 163 86,5 53  K0098.02
K0662.008100 ZA3E|M RAL 7021 3 M8x45 2139 9 193245206 156 - 2551,132,76,8 1914 107 62  K0098.04
K0662.010100 A3|A RAL 7021 4 M10x55 3250 8 274564 25,518,5383,556,538,7 9 2305 1563 95  KO0098.06
K0662.012100 ZA3|A RAL 7021 5 M12x70 3253 10,5 - 4563 28 21 - 3,556,546,78,8249,1 173,5 113,56 K0098.06
K0662.006103 415 ¥Z RAL 3020 3 M6x35 1429 7 122738175125 - 2553424955 163 86,5 53  K0098.02
K0662.008103 &5 #Z RAL 3020 3 M8x45 2139 9 193245206 156 - 2,551,132,76,8191,4 107 62 K0098.04
K0662.010103 &l=5 Wz RAL 3020 4 M10x55 3250 8 274564 255 18,5383,556,538,7 9 230,5 153 95 K0098.06
K0662.012103 4135 ¥Z RAL 3020 5 M12x70 3253 10,5 - 4563 28 21 - 3,5656,546,7 8,8 249,1 173,5 113,56 K0098.06
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



